Uddevalla BF
Partavling Hcp 2019-10-10

Partavling, 10 bord, 20 par. Antal brickor: 22. Medel: 198.0.

Plac Par Poang % Namn MID Klubb
1 14 255.5 64.52 Rune Karlsson - Gun Sé&rborn 59576 32054  Uddevalla BF
2 17 242.1 61.13 Birgitta Morck - Ingrid Adamsson 42826 42829  Uddevalla BF
3 11 233.2 58.90 Kenneth Carlsson - Eva-Britt Karlsson 17679 27137  Uddevalla BF
4 12 230.8 58.29  Anna Ek - Ake Andersson 59578 91475  Uddevalla BF
5 16 222.1 56.07 Kent Johansson - Ann-Christin Johansson 3908 46161  Uddevalla BF
6 18 215.4 54.39 Bertil Andersson - Maire Andersson 17681 31391  Uddevalla BF
7 13 203.3 51.35  Arne Lago - Bjorn Moérk 38186 38185  Uddevalla BF
8 15 201.1 50.79 Kjell Lidén - Lena Hoglund 48462 46159  Uddevalla BF
9 19 199.0 50.26 Lisbeth Johnsson - Sonia Cedergren 92688 38214  Uddevalla BF
10 6 190.3 48.05 Birgitta Andersson - Sune Glimhage 27123 61090 Uddevalla BF
11 5 189.3 47.80 Roland Hultenmo - Ronny Olsson 92687 27667  Uddevalla BF
12 7 188.4 47.59  Inger Karlsson - Aina Andreasson 3604 87005  Uddevalla BF
13 9 186.7 47.14  Karin Carlsson - Marianne Sundstrém 130 17677  Uddevalla BF
14 3 184.7 46.64 Barbro Atzori - Gerd Andersson 50803 39697  Uddevalla BF
15 10 182.0 45.97  Lena Zetterup - Jan-Olof Zetterup 87572 87573  Lerums BK
16 1 180.6 45.61  Pontus Kjellberg - Hakan Nystrand 39883 31846  Uddevalla BF
17 8 173.1 43.71  Annike Larsson - Stig Ljungqvist 87006 28555  Uddevalla BF
18 2 171.2 43.23 Per Ivarsson - Richard Nilsson 26016 86953  Uddevalla BF
19 20 168.2 42.48  Sonja Bjorklund - Per Ake Sand 43058 43057  Uddevalla BF
20 4 142.9 36.09 Leif Olsson - Britta Andersson 49269 48464  Uddevalla BF
1 4« EDKn853 Bésta kontrakt 2 4 Knog Basta kontrakt 3 4D Basta kontrakt
Nord vE76 6NT N =990 Ost v K107652 4% O =-130 Syd v Kn32 5NT O =-660
Ingen ¢ 65 NS ¢ EKn2 ov ¢ E105
*42 & ¢ v & NT &Kn & ¢ v & NT #E109862 & ¢ v & NT
46 410742 N 7 125 1212 D103 4654 N3 4874 462 4 EKKN10843 N 7 7 2 2 2
v 842 vKD10953 S 7 125 1212 vE9 v8 S34874 vED107654 vK S77222
41042 483 06 0700 + D83 ¢ K1054 O 109 5 6 5 + KD8 462 O6 6 101111
#K109875 #E V60700 #E9753 #D10842 V 109 5 6 5 »5 &#KKn4 V 6 6 111110
4 K9 & EK72 4975
vKn v DKn43 v 98
¢+ EKDKn97 4976 ¢ Kn9743
#DKn63 *K6 »D73
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
10 20 44DN+3 vK 890 180 0.0| 8 16 4v S= 4T 620 170 10|20 19 6vDV-1 &A 200 18.0 0.0
8 16 44 N+3 vQ 510 150 3.0|13 2 4v S= 43 620 170 10|14 3 34 0O+3 *Q -230 16.0 2.0
13 2 44 N+3 vK 510 150 3.0| 6 12 54DV-3 & 500 130 50| 9 17 44 O= *3 -620 14.0 4.0
3 15 44 N+2 «A 480 100 80| 9 18 54DV-3 v6 500 13.0 50| 1 10 44 O+1 *Q -650 8.0 10.0
7 14 44 N+2 «A 480 100 80| 7 14 2¢v N+1 ¢4 140 9.0 9.0| 2 12 4v V+l *A -650 8.0 10.0
19 5 44 N+2 A 480 100 80|10 20 3v N= &4 140 90 9.0| 5 18 44 O+1 ¢4 -650 8.0 10.0
1 11 44 N+1 «A 450 6.0 120| 1 11 4v N-2 *4 -200 3.0 15.0| 6 11 44 O+1 *3 -650 8.0 10.0
9 18 44 S= T 420 40 14.0| 3 15 4vy N-2 +5 -200 3.0 15.0| 8 15 44 O+1 *Q -650 8.0 10.0
4 17 4¢ S+3 v8 190 20 16.0| 4 17 4v N-2 *Q -200 3.0 15.0| 4 16 44 O+2 *3 -680 1.0 17.0
6 12 44 N-1 vQ -50 0.0 18.0|19 5 4v N-2 *4 -200 3.0 15.0| 7 13 4v V+2 4Q -680 1.0 17.0
4 & Kn82 Bésta kontrakt 5 # 862 Bésta kontrakt 6 s K Bésta kontrakt
Vast v EKn INTV =-90 Nord v EK10632 44 N =620 Ost v KKn109874 4v S =420
Alla + D632 NS +53 ov ¢ 74
#EKD8 & ¢ v & NT &K4 & ¢ v & NT &EKN7 & ¢ v & NT
4 ED743 &K9 N6 6 655 4109 « ED7 N 6 6 10109 4543 & DKn96 N 6 8 108 8
v 973 v 10862 S 66 655 vKn7 v 985 S 6 6 10109 vE6 vD2 S 6 8 108 8
¢ KKn5 ¢ E109 06 7677 ¢ K1098 ¢E742 076 333 +D532 +E8 07 4253
»63 #Kn972 V67¢8677 #Kn10753 #D96 V76333 #K1094 #86532 V75254
41065 & KKn543 4~ E10872
v KD54 vD4 v53
+ 874 + DKn6 + KKn1096
#1054 »E82 &D
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
14 3 INN+2 9 150 180 00| 1 20 4v N= v9 620 150 3.0[10 6 4vy N+2 8 480 18.0 0.0
8 15 INN+1 &7 120 16.0 20| 3 13 4vN= 4A 620 150 3.0| 3 13 4v N+1 ¢A 450 150 3.0
5 18 INN= v2 90 120 6.0| 7 12 44 S= +K 620 150 3.0(19 18 4v N+1 ¢A 450 150 3.0
7 13 INN= «9 90 120 6.0(15 4 4vy N= 6 620 150 3.0| 2 11 4v N= 8 420 11.0 7.0
20 19 INN= *2 90 120 6.0| 5 17 3v N+2 47 200 100 80|15 4 4v N= &2 420 11.0 7.0
2 12 INN-1 v2 -100 6.0 12.0|10 6 2v S+2 4T 170 7.0 11.0| 1 20 2v N+3 46 200 8.0 10.0
4 16 INN-1 v8 -100 6.0 12.0|19 18 2v N+2 v9 170 7.0 11.0| 7 12 3v N+1 ¢A 170 40 14.0
9 17 INN-1 vT -100 6.0 120| 2 11 2¢v N+1 ¢A 140 3.0 150| 8 14 2v N+2 8 170 4.0 14.0
6 11 3v N-2 oK -200 20 16.0| 9 16 2v S+1 49 140 3.0 150| 9 16 3v N+1 ¢A 170 40 14.0
1 10 14DV +1 &A -360 0.0 18.0| 8 14 4v S-1 aT -100 0.0 18.0| 5 17 3NN-2 *8 -100 0.0 18.0
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7 a72 Basta kontrakt 8 410 Basta kontrakt 9 4 EDKn6 Basta kontrakt
Syd v EK102 2NTV =-120 Vast vD8 6y N =980 Nord v E1095 3NT N =400
Alla ¢ 764 Ingen ¢ E842 ov +10542
10843 & ¢ v & NT #ED9654 & ¢ v & NT *K & ¢ v & NT
4 K1054 4 DKn863 N7 8555 4 Kn9874 & EKDG5 N 1211127 8 472 « K10854 N 108 9 8 9
v D93 v 8654 S78655 v 1054 v 963 S 1211127 8 vKn876 vD4 S 108 9 7 9
¢KKn10 ¢9 065788 ¢ D53 ¢ Kn96 001060 ¢ K976 ¢ EKn3 035454
#K96 #EKn2 V657838 #Kn2 «103 V01060 £942 #1073 V35454
«E9 «32 +93
v Kn7 v EKKn72 v K32
¢ ED8532 ¢ K107 +D8
*D75 *K87 #EDKnN865
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 19 340-1 ¢+A 100 170 10| 2 10 44DO-4 <vA 800 180 0.0]12 8 3NN+2 T 460 180 0.0
8 13 34 0-1 vJ 100 170 10| 1 19 54N+1 #A 420 110 7.0| 1 18 3NN+1 a5 430 100 8.0
2 10 3¢ S-1 aT -100 13.0 50| 8 13 5#N+1 «A 420 110 7.0| 2 20 3NN+1 5 430 10.0 8.0
4 14 3¢ S-1 a4 -100 13.0 50| 9 15 54 N+1 4A 420 110 7.0 3 11 3NN+1 45 430 100 8.0
11 7 24 0= v7 -110 70 11.0|11 7 54N+1 &A 420 110 7.0| 5 15 3NN+1 44 430 100 8.0
16 5 24 0= vJ -110 70 11.0|16 5 5#N+1 4A 420 110 7.0| 6 19 3NN+1 45 430 10.0 8.0
18 17 24 O= vJ -110 7.0 11.0|18 17 54 N+1 4K 420 110 7.0| 9 14 3NN+1 4 430 100 8.0
20 6 24 O= v7 -110 70 11.0| 3 12 3#N+3 &K 170 20 16.0{10 7 3NN+1 45 430 100 8.0
9 15 3¢ S-2 45 -200 20 16.0| 4 14 3#N+3 4A 170 20 16.0| 4 13 3NS= v6 400 20 16.0
3 12 4¢ S-3 4K -300 00 18020 6 44#N+2 4A 170 20 16.0|17 16 3+ S+1 47 130 0.0 18.0
10 4« Kn4 Bésta kontrakt 11 104 Bésta kontrakt 12 4109743 Bésta kontrakt
Ost v98 5v O =-650 Syd v Kn96 54 V =-450 Vast v Kn5 5v V =-450
Alla + DKn1052 Ingen ¢ Kn92 NS + Kn8
#E975 & ¢ v & NT #EKKn74 & ¢ v & NT #KD72 & ¢ v & NT
4103 & EK72 N46 254 4 EKDKNn7 486532 N9 66 26 .- « ED62 N3 7183
vKD743 vKn65 S46 254 v E872 vD4 S966 26 vEKD9762 v843 $38283
¢E943  +8 09 6 117 7 +10 ¢ ED543 036 7 117 ¢+ K ¢ D962 O 105 115 10
»D8 #KKn1063 V 9 6 117 7 #952 *3 V366 117 #EKn843  #109 VvV 105 115 9
« D9865 49 & KKn85
vE102 v K1053 v10
¢ K76 + K876 ¢ E107543
*42 «D1086 #65
Par Kontr Ut Res Poang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
2 20 3NV-2 ¢+Q 200 160 20| 5 14 4a V= *A -420 16.0 20| 6 18 3v V+1 *J -170 18.0 0.0
4 13 44 O-2 ¢6 200 160 20| 7 20 44 V= SA -420 16.0 20|16 15 3v V+2 *Q -200 16.0 2.0
12 8 3NV-2 ¢J 200 160 20|11 8 4aV= *A -420 16.0 20| 5 14 4v V= *J -420 13.0 5.0
118 4v V-1 ¢+Q 100 90 9.0| 1 17 44 V+1 *A -450 80 10.0|11 8 4v V= ¢J -420 13.0 5.0
3 11 3NO-1 «5 100 90 9.0| 2 19 4eV+1 *A -450 8.0 10.0| 2 19 4v V+1 +J -450 6.0 12.0
5 15 4v V-1 A 100 90 9.0| 3 10 44 V+1 *A -450 8.0 10.0| 3 10 4v V+1l *K -450 6.0 12.0
6 19 4y V-1 ¢+Q 100 90 9.0| 4 12 4a V+1 *A -450 80 10.0| 4 12 4v V+1 *Q -450 6.0 12.0
9 14 2v V+3 v8 -200 30 15.0(13 9 4eV+l *A -450 8.0 10.0| 7 20 4v V+1 +J -450 6.0 12.0
17 16 2v V+3 L) -200 30 15.0| 6 18 44 V+2 *A -480 20 16.0|13 9 5v V= &7 -450 6.0 12.0
10 7 4v V= 4J -620 0.0 18.0|16 15 54DN-3 +A -500 00 18.0| 1 17 4y V+2 *K -480 0.0 18.0
13 41075 Basta kontrakt 14 4 D1098754 Basta kontrakt 15 4 EK109732 Basta kontrakt
Nord v Kn92 5v O =-650 Ost vE4 44 SD-1-100 Syd v8 54 SD-1-200
Alla + D53 Ingen + K104 NS +3
#Kn1065 & ¢ v & NT *9 & ¢ v & NT «D1085 & ¢ v & NT
» EK9 a- N33273 a2 « EK63 N367 93 a5 a4 N7 2 2 103
vE73 v D10865 $33273 vKn73 v D92 S36793 vEKn763 vKD54 S 722103
¢109864 ¢ K72 0 1010116 9 ¢ Kn83 ¢ E96 096649 + ED86 ¢ KKn542 O3 11113 5
*K2 «ED874 VvV 1010106 9 #EKDKN108 #653 V966409 #KKn2 *976 vV 3 11113 5
4 DKn86432 aKn 4 DKn86
v K4 v K10865 v 1092
¢ EKn ¢ D752 ¢ 1097
+93 *742 #E43
Par  Kontr ut Res Poéang Par Kontr ut Res Poang Par Kontr ut Res Poéang
15 14 44 S-2 vA -200 180 00| 3 20 32#O0+1 & -130 180 00| 4 10 44aDN= vK 790 180 0.0
2 18 4v O = ¢A -620 11.0 70|16 1 54DN-2 <A -300 16.0 20|14 13 44 N= vK 620 150 3.0
5 13 4v 0= aJ -620 11.0 70| 7 19 3NO= aJ -400 11.0 70|18 7 44 N= vK 620 150 3.0
7 19 49 O = 4Q -620 11.0 70| 8 10 3NO= LN -400 11.0 7.0| 3 19 4v V+1 & A -450 70 11.0
8 10 4v O = 4 Q -620 11.0 7.0|15 14 3NO= [N -400 11.0 7.0| 5 12 4v V+1 s A -450 7.0 11.0
16 1 4v 0= a) -620 11.0 70|17 6 3NO= L) 400 11.0 70| 6 16 4v V+1 s A -450 7.0 11.0
17 6 4vO= &9 -620 11.0 70| 2 18 3NO+1 v¥5 -430 40 140| 8 20 5v V= 4K -450 70 11.0
3 20 4y 0+1  ¢J -650 40 140| 5 13 3NO+1 ¥6 -430 40 140| 9 11 5v V= LY -450 7.0 11.0
12 9 44DS-3 v3 -800 20 16.0|12 9 3NO+1 v6 -430 40 140|17 2 4y V+1 4K -450 70 11.0
4 11 44DS-4 vA -1100 0.0 180| 4 11 3NO+2 ¥5 -460 00 18.0|15 1 54DN-2 K -500 0.0 18.0
16 43 Bésta kontrakt 17 ~E76 Bésta kontrakt 18 & KKn6 Bésta kontrakt
Vast v53 ANT N D -3-500 [Nord vE64 24 ND-1-100 Ost v 98 5¢ S =600
ov ¢ K98643 Ingen + ED1083 NS ¢ K10742
#E1086 & ¢ v & NT *84 & ¢ v & NT 987 & ¢ v o NT
4 Kn109865 & EK4 N58527 & KKn + 10954 N56576 D975 + 1032 N4 114 7 8
v- vEKKn1086 S 5 8 5 2 7 vK732  vD85 S57576 vKDKn74 v 1052 S 4 114 7 8
¢ Kn107 ¢2 O 8 5 8 106 ¢ 542 ¢ K76 086 86 7 .- ¢ 95 082753
#KKn72 #D54 vV 8 58 106 #EKD10 #Kn62 V86867 #EKn102 #K6543 V82753
4 D72 « D832 ~E84
v D9742 v Kn109 vEG3
¢ ED5 ¢ Kn9 ¢ EDKn863
#93 #9753 &D
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
3 19 54 V-3 3 300 180 00|19 8 2NO-2 ¢J 100 180 0.0| 6 15 5¢ S= vK 600 160 2.0
6 16 44 V-1 +8 100 140 40| 6 15 1¢ N+1  oT 90 16.0 20| 9 10 5¢ S= vK 600 16.0 2.0
8 20 3v0O-1 &9 100 140 40[18 3 INV-1 +8 50 140 40|19 8 5¢S= vK 600 160 2.0
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17 2 3v0O-1 *9 100 140 40|16 2 INN-1 vQ -50 12.0 6.0| 5 11 4¢ S+1 «A 150 10.0 8.0
14 13 3v O= *9 -140 100 80| 1 14 INV= +8 -90 7.0 11.0|13 12 2¢ S+3 vQ 150 10.0 8.0
15 1 3v O+1 «9 -170 70 11.0| 4 20 INV= +8 -90 7.0 11016 2 4¢ S+1 vK 150 100 8.0
18 7 3v O+1 *9 -170 70 110| 5 11 2 V= +3 -90 7.0 11.0| 7 17 2¢ S+2 vQ 130 5.0 13.0
4 10 44 V= +3 -620 3.0 150| 9 10 INO= +J -90 7.0 11.0|18 3 4¢ S= «A 130 5.0 13.0
9 11 44 V= 43 -620 3.0 150| 7 17 24 S-2 &K -100 20 16.0| 1 14 5¢ S-1 *A -100 1.0 17.0
5 12 44 V+1 *A -650 0.0 18.0|13 12 24V +2 vA -130 0.0 18.0| 4 20 5¢ S-1 vK -100 1.0 17.0
19 & K72 Bésta kontrakt 20 & KD986 Bésta kontrakt 21 « EK10 Bésta kontrakt
Syd v 853 3NT S =400 Vast v K85 ANT N =630 Nord vD63 ANT N =630
oV +3 Alla +Kn NS + K83
+KD7652 & ¢ v & NT #DKn104 & ¢ v & NT #KKn52 & ¢ v & NT
4 EKn3 « D10864 N7 97609 4 E2 41073 N9 9 8 9 10| «Kn3 «D976542 N 107 106 10
vKD10762 ¥- S797609 vKn92  v10643 S99 8 9 10| vKi107 v52 S 107 106 10
75 ¢ D92 06 457 4 4752 498643 04 4 433 ¢+ DKn10654 +E 035373
*E3 #Kn10984 V 6 3 5 7 3 &EK875 #3 V 44 4 3 3 *76 D104 V35373
495 & Kn54 48
v EKn94 v ED7 v EKn984
+ EKKn10864 + EKD10 4972
»- #962 #E983
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
19 4 3¢DS+1 vQ 570 180 00| 2 15 34 N= *3 140 180 0.0| 8 17 3NN+1 a5 630 170 1.0
12 11 3v V-4 +3 400 150 3.0| 5 10 24 N= 3 110 160 20|18 4 3NN+1 a2 630 170 1.0
17 3 3v V-4 +3 400 150 3.0 1 13 44 N-1 3 -100 9.0 90| 9 19 4vy N= ¢+A 620 13.0 5.0
20 9 44 0-2 ¢A 200 120 6.0| 6 14 44 N-1 *3 -100 90 90|20 5 4vyN-= ¢+A 620 13.0 5.0
1 13 4¢ S= «A 130 100 80| 7 16 44 N-1 3 -100 90 9.0| 7 15 44DO-3 v4 500 10.0 8.0
2 15 3¢ S= vK 110 50 13.0| 8 18 44 N-1 3 -100 90 9.0| 3 16 44DO-2 ¢9 300 8.0 10.0
5 10 3¢ S= vyK 110 50 13.0|12 11 44 N-1 3 -100 9.0 9.0| 2 14 3v S+l 4] 170 6.0 12.0
7 16 3¢ S= vQ 110 50 13.0|17 3 44 N-1 3 -100 90 9.0|11 10 4vS-1 s -100 3.0 15.0
8 18 3¢ S= vK 110 50 13.0|19 4 44 N-2 3 -200 1.0 17.0|12 1 4v S-1 ] -100 3.0 15.0
6 14 4¢ S-1 *A -50 0.0 18.0(20 9 44 N-2 *3 -200 1.0 17.0| 6 13 4v S-2 aJ -200 0.0 18.0
22 4 K64 Basta kontrakt
Ost v K1087 5¢ SD-3-500
oV + D952
#52 & ¢ v & NT
s E7 «4DKn1053 N 2 8 6 3 6
vD94 vE63 S 286 36
41083 #Kn 094597
#KD974 #E1083 V 104 6 107
4982
v Kn52
+ EK764
#Kn6
Par  Kontr ut Res Poéng
12 1 3NV-2 ¢+2 200 18.0 0.0
2 14 3NV-1 v8 100 16.0 2.0
18 4 2&V+2 *5 -130 130 5.0
20 5 3&V+1 v7 -130 13.0 5.0
3 16 3#V+2 +9 -150 6.0 12.0
6 13 3#V+2 vT -150 6.0 12.0
7 15 34V +2 v8 -150 6.0 12.0
8 17 3#V+2 +5 -150 6.0 12.0
9 19 4aV+1l 2 -150 6.0 12.0
11 10 44 O= ¢ A -620 0.0 18.0
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